RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approval of the Tohono O'odham Nation's Application and Plan to Establish and Implement an Employment Program under Public Law 102-477)

RESOLUTION NO. 06-529

1	WHEREAS,	the Tohono O'odham Nation (the "Nation") receives federal funding from several
2		agencies to assist Tribal members towards employment; and
3	WHEREAS,	Public Law 102-477, the Indian Employment, Training and Related Services
4		Demonstration Act of 1992, 25 U.S. C. 3401 et seq., allows for combined federal funding
5		streams to meet the specific employment barriers of Indian tribes and allows Indian
6		tribes to integrate existing programs to act as one "holistic" program to streamline
7		services and eliminate any duplication of services; and
8	WHEREAS,	PublicLaw102-477supportsIndianSelf-Determinationandallowsforanestablished
9		set of performance measures based on the specific barriers and needs of the Tohono
10		O'odham Nation instead of pre-determined federal government performance
11		measures; and
12	WHEREAS,	the Tohono O'odham Nation's Department of Education has prepared a P.L. 102-477
13		Plan which combines funding from the U.S. Bureau of Indian Affairs Employment
14		$As sistance\ program\ (also\ known\ as\ the\ Job\ Placement\ and\ Training\ program), the\ U.S.$
15		$Department of Labor Workforce Investment Act program, and the U.S.\ Department of the Control $
16		Health and Human Services Native Employment Works program, which combined
17		funding will support a new "477 Program"; and
18	WHEREAS,	the BIA Employment Assistance program will be withdrawn from the Nation's P.L. 93-
19		638 Master Contract with the BIA, effective October 1, 2006, and the funds associated
20		with this program will be combined with funds from the U.S. Department of Labor and
21		the U.S. Department of Health and Human Services, and the combined funds will be
22		provided to the Nation through the Division of Workforce Development in the Office
23		of Indian Energy and Economic Development in the Central Office of the Bureau of
24		Indian Affairs in Washington, D.C., to fund the Nation's 477 Program; and
25	WHEREAS,	the General Assistance Program and Tribal Work Experience Program in the Social
26		$Services/Family Assistance\ program\ of the\ Nation's\ Department\ of\ Health\ and\ Human$
27		Services will collaborate with the new 477 Program in enrollment of clients and in
28		$offering\ streamlined, non-duplicative\ services, but\ will\ remain\ organizationally\ and$

	RESOLUTION NO. <u>06-529</u> (Approval of the Tohono O'odham Nation's Application and Plan to Establish and Implement an Employment Program under Public Law 102-477) Page 2 of 3
1	financially separate from the new 477 Program, and will remain within the Nation's
2	P.L. 93-638 Master Contract with the BIA and under the direction of Nation's
3	Department of Health and Human Services; and
4	WHEREAS, funds for the 477 Program will be kept in a separate interest bearing bank accoun
5	established by the Nation's Treasurer's Office with funds retained by the program; and
6	WHEREAS, the 477 Plan and Application have been reviewed by the Human Resource
7	Development Committee and the Budget and Finance Committee of the Legislative
8	Council.
9	NOW, THEREFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby:
10	1. Approves the Nation's 477 Plan and application to the Bureau of Indian Affairs in
11	the form substantially attached hereto for the initial development and
12	implementation of a Public Law 102-477 Plan for employment programs for the
13	Nation, with an implementation date of October 1, 2006;
14	2. Authorizes the Nation's Treasurer's Office to establish an interest bearing accoun
15	with the Nation's bank for placement of the funds for the 477 with all interes
16	retained within the Program;
17	3. Authorizes and directs the Nation's Accounting Office to consolidate the financia
18	reporting that will bring the new 477 Program into the Nation's budget and
19	accounting system as one program; and
20	4. Authorizes the Nation's Chairwoman, to execute the Plan, the Application, and an
21	other documents necessary to implement the 477 Program.
22 23 24 25 26 27 28	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>09^{TH.}</u> Day of <u>AUGUST, 2006</u> at a meeting at which a quorum was present with a vote of <u>2,271.8</u> FOR; <u>-0</u> AGAINST; <u>169.0</u> NOT VOTING; and <u>[04]</u> ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1 (<u>d</u>) and 1 (<u>f</u>) of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistan Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
29 30	TOHONO O'ODHAM LEGISLATIVE COUNCIL
31 32	and to be a
33 34	Evelyn B. Juan Manuel, Legislative Chairwoman
34 35	10h day of Quant, 2006
1	·

RESOLUTION NO. 06-529	N. N. et al. A. H. et al. at March 1911 and Toronton on
(Approval of the Tohono O'od Employment Program under P	tham Nation's Application and Plan to Establish and Implement an
Page 3 of 3	udic law 102-17)
ATTEST:	
,	
Summer Like	
Sum Sifey Lucille Lopez, Acting Legislat	ilius Constanti
09 day of august	, 2006.
Said Resolution was submi	itted for approval to the office of the Chairwoman of the Tohono
O'Odham Nation on the 10	m day of <u>luyul</u> , 2006 at <u>/0:33</u> o'clock, <u>A</u> .M.,
	Section 5 of Article VII of the Constitution and will become effective
11-	her failure to either approve or disapprove it within 48 hours of
submittal.	her familie to either approve or disapprove it within 40 hours or
Submittal.	TOHONO O'ODHAM LEGISLATIVE COUNCIL
	TORONO O ODRAW LEGISLATIVE COUNCIL
	$Q_{ij} = Q_{ij} + Q_{ij} = Q_{ij}$
	Melmahine
	Evelyn B. Juan Manuel, Legislative Chairwoman
	Q
	Λ
/	on the 10 day of Munut, 2006 at 1:42 o'clock, 1.M.
[[/] APPROVED	on the, 2006
	ρ
[] DISAPPROVED	at 1.70 o'clock, 1.M.
	/ VMM/NI MANI MILINI MILI
	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN
	TOHONO O'ODHAM NATION
Returned to the Legislative S	ecretary on the <u>//</u> day of
Munch	at <u>3:05</u> o'clock, <u></u> .M.
	at <u>3.05</u> o'clock, <u>/</u> .M.
4	
Suis dela	
Lucille Lopez, Acting Legislat	Line Co and a man
Lucine Lopez, Acting Legisiat	ave Secretary
1	

ACTION: APPROVAL OF THE TOHONO O'ODHAM NATION'S APPLICATION AND PLAN TO ESTABLISH AND

IMPLEMENT AN EMPLOYMENT PROGRAM UNDER PUBLIC LAW 102-477

MOVED: COUNCILMAN TIMOTHY JOAQUIN SECOND: VICE CHAIRMAN VERLON JOSE

DATE: AUGUST 09, 2006

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 310.8	FRANCES MIGUEL (Vernon J. Smith)	155.40	X			
310.0	2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	X			
CHUKUT KUK 258.7	1. ETHEL GARCIA	129.35	X			
236.7	2. VERLON M. JOSE (David Garcia)	129.35	X			
GU ACHI 221.6	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	X		# # # !	
221.0	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55	x			\$
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			X
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	83.70	x			x
167.4	2. SANDRA ORTEGA	83.70	Х			
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT	85.90	Х			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50		:	X	
169.0	2. GLORIA RÁMIREZ **	84.50			x	
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			Х
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	X			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	X			
146.9	2. PHYLLIS JUAN	73.45	X			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	X			
421.0	2. EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	X			
SIF OIDAK	1. WAVALENE SAUNDERS (Isidro Lopez) 2. DARLENE ANDREW	93.35	X			
186.7	2. DARLENE ANDREW (Rita Martinez)	93.35	X			X
	TOTAL	2,440.80	2,271.8	-0-	169.0	[04]